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Part-1 : Child Development and Pedagogy

With one of the following law, the
more times a stimulus induced

- response is repeated the longer it
will be retained :

(1) Law of exercise

(2) 'Law of repetition

(8) Law of effect

(4) Law of readiness
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A procedure that establishes a
sequence of responses which lead to
a reward following the final
response and then working
backwards is called :

(1) Chaining

* (2) Stimulus generalisation
(3) Shaping
(4) Stimulus control
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3.

Generalisation is a reaction to :
(1) Differences

(2) Association

(3) Pairing

(4) Similarities
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In Pavlov’s classical conditioning

experiment, the conditioned

- stimulus was -

(1) Saliva

(2) Footstep's :

(3) - Bell

(4) Food
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PSYChologist Albert Bandura has
deve_loped the theory of :

(1) Observation learning

+(2) Insightful learning

(3) Operant conditioning

(4) Classical conditioning
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Vygotsky proposed that child
development is :

(1) A product of formal education
(2) A product of assimilation and

accommodation

(3) Due to genetic components of a
culture _

(4) A product of social interaction
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The influence of having previously
practiced skill on the learning of
new skill is called :

(1) Zero transfer

(2) Transfer of learning

(3) Bilateral transfer

(4) Negative transfer
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“Using existing knowledge or skills
to address unanswered questions” is
called :

(1) Problem solving

(2) Critical thinking

(3) Metacognition

(4) Self-regulation
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Deductive thinking refers to

thinking in which :

(1) Judges the suitability or
appropriatencss of an idea

(2) Generalises the information

(3) The individual goes heyond the
present information

(4) An inference or conclusion is
derived  logically  from
information on hand
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10. Identify the type of memory that

deals with the gencral world
knowledge that are accumulated by
the individuals throughout their
lives, like facts, ideas, meaning and
concepts !

(1) Short-term memory

(2) Long-term memory

(3) 8Sensory memory

(4) Semantic memory
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According to Bruner, young
children learn mainly in tho :

(1) Enactive mode

(2) Proactive mode,

(3) Symbolic mode

(4) Iconic mode
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Learner-centred Leachmg moeans
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(1) Learners are given an
opportunity to construct
knowlcdge and teacher is a
guide in the learning process

(2) Learners know little and
teaching involves transmission
of facts to them

(3) Learners are considered
passive recipients and teacher
has the right knowlcdgc

(4) Learncrs are slow in learning
and teacher stresses completion
of Hyllubus
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13.

14.

qing lessons can be

Cooperative lear
E S ETaTac by the followmg

characterised

features except :
{1) Students work in' teams to

master learning goals

(2) Competition among teacher
and students

(3) Teams are made up of high-
average and low-achieving

students

(4) Whenever posmble, teams
include a racial, cultural and

.gender mix
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Education for ‘children with special
needs’, should be provided :
(1) In special schools only
(2) By special teachers in special
schools
(3) Along with other normal children
(4) By methods developed for
special children in special
schools
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Inclusive Education :

(1) Includes indoctrination of facts

(2) Includes teachers
marginalised groups

from

(3) Celebrates diversity in the
classroom

(4) Encourages strict admission
procedure
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‘A few students in your class are

exceptionally bright, you will teach

_ them :

(1) By using enriched programmes

(2) only when they want

(3) Along with the others in the
class

(4) Along with higher classes
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Dyslexia is associated with :

(1) Reading disorder

(2) Writing disorder

(3) Mental disorder

(4) Mathematical disorder
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In CCE, formative and sﬁmrhative
assessment weightage in Telanganzi
is @ o
(1) 60% and 40% respectively

(2) 50% and 50% respectively

(3) 20% and 80% respectively

(4) 30% and 70% respectively
Boom@é“;} CCE Hgrsod?
Doy EyE BBt BoaE)s
HBoHo Tk grdégin

(1) &% 60% S30055 40%

(2) L6557 50% 53805 50%

(3) $655mm 20% L3605 80%

(4) $G5m 30% L3045 T0%

TET-111-EM/TM

Booklet Code | C

19. According to Bloom’s taxonomy, if

20.

we have to assess a child’z
knowledig'é, which of the following
domains we are looking into ?

(1) Cognitive domain

(2) Cognitive and affective domain
(3) Psychomotor domziin

(4) Affective domain

The National - Curriculum

Framéwork, 2005 expects a teacher
to be child’s :

(1) Facilitator
(2) Guide

(3) Monitor
(4) Friend
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Among the following identify the
statement which does not match
here :

(1) Development proceeds from
general to specific
Development is an integrated

process

Development is a continuous
and life-long process
Development is a result of

(2)

3)

(4)

maturation
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This- is an unlearned or mnate
response in the reaction to a
spemﬁc class of stimuli :

(1) Reflex

~(2) Insight

(3) Species specific behavxour

(4) Instinet
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24.
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children

and

According to Piaget,
abstract logic
reasoning skill during :

(1) Concrete operational stage
(2) Formal operational stage

(8) Sensory motor stage

- (4) Pre-operational stage
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Determinants of individual
differences in human beings relate
to : : 2

Interaction between heredity
and environment

'No influence of both heredity

and environment
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Differences in environment

Differences in heredity
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25. The correct sequence of the five
stages of the Freud theory :

(1) Oral, anal, latency, genital,

phallic
(2) Oral, phalhc anal latency,
genital - - _
(3) Oral, anal phalllc, latency,
genital el
(4) Oral, anal gemtal latency,'
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26. According to Erikson, "'in which
aE stage-children do not want help
. from others ?
(1) Initiative Vs. Guilt _
(2) Industry Vs. Inferiority 3
(3) Trust Vs. Mistrust
(4) Autonomy Vs. Shame
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27. The thinking process involved in

producing an idea or concept that .

is new, original and useful is
termeciés: S
(1) Unique
= '.(2)‘ Flexible
(3) Cx,'eativ.ity
4) Innovatmn N
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28. Language can be summarised in
terms of :

(1) Sentence structure and

memory
(2) * Only -sentence
(3) Prepositiqns and sentence
structure
(4) Prepositions and memory
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. According to Kohlberg in which

stage a child thinks that ‘T won't
cheat on the test because my
parents will be ashamed of me ?
(1) Interpersonal relationships
(2) Social contract and individual
rights '
(8) Obedience and punishment
(4) Individualism and exchange
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30. ‘Introspection method’ was used

mainly by :

(1) Behaviourism
("2)I Pragmatism .
(3) Ii:unctibnalism
(4) Structuralism
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Part-II : Telugu (Language-I)
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62.
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63.
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pPart III : English (Language-II)

Who pamted this 7 — this can be

understood as : _

(1) Who was it painted ?

(2) Who was it painted by ?
(3) Whom was it painted ?
(4) By whom it was péinted ?

‘Shall I ever see her again ? he -

: wondered This sentence can be

reported as: :

He Wondered if he would see
her again ever. '_ . =
(2) He wondered if he Would ever
= _.5ee. her again. . i
3)
~ see her again
4)

seen her again

Very few Indian km_g_s ‘were as
great as Ashoka. This sentence can

be understood as :

(1)
other Indian kings

(2)
great as Ashoka

Ashoka was the greatest
Indian king

(3)

(4) Ashoka was greeter than any

other Indian king

TET-111-EM/TM

He Wondered 1f he wﬂl ever -

'He wondered if he would ever

Ashoka was gfeatér than most -

No other Indian king was as

13

64.

use 1in

Ther_es ................
complaining. They won’t do
anything about it.

Choose the correct answer :

-~ -(1) ‘a littl_e'

' -(3) a few"_"_ %,

66.

2) little

Ramesh has two brothers but he
_._doesn’t speak to

..... . of them

/ :.':'_'_._Choose the correet answer :
Sy
9

‘(4)

elt__h__er i =
nelther i
‘both

any
S inthabes?
Choose the correct ansﬁer to
complete the sentence :

(1) you did think

(2) you had thought

(8)' did you think that

(4) did you think



67.

68.

69.

We haven’t got ......cceeuene
Choose the correct answer :
(1) any butter

(2) the butter

(3) a butter

(4) some butter

----------------

ooooooooooooooooooooo

Choose the correct answer to

complete the sentence :

(1) surprising, frightened

(2) surprised, frightening

.(3) surprised, frightened

(4) surprising, frightening
No”one believed him at ﬁrst, but

---------------

to be correct.
Choose the cofrect answer :
(1) found out

(2) turned out

(3) worked out

(4) came out

TET-111-EM/TM
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Choose the correct sentence :

(1) Had I not seen this with my eyes
I would have not believed it.

Had I seen with my eyes, I
would have not believed it.

Had I not seen this with my
eyes, I would have believe it.

(3)
(4) Had I not seen this with rhy
eyes,
belxeved it.

Fmd out the part of the sentence
‘that has an error '

In summer / days are / warm than/“

(&) BB (0)

ﬁnights.

(D)
(1) (C)
(2) (M)

3 @

4) (B)
He insisted on he was innocent.

To improve the sentence, the

underlined part has to be replaced

by :
(1) insisted upon that
() |
(3)
(4)

insisted what

ingisted on that

insisted that

I would not have

) T P St 1 T B



5

75.

Ima"ﬁg‘@d :"_:-.:_-——Wﬂ.at

ke hzs dons to TS

Choose “the correct anSwer to
L ]

complete the seniedce -

(1) with, for

(2) for, with

(3) with, from

(4) for, from

The expression 1o turn oOver a new

Jeaf means :

(1) To change one’s behaviour for

the better
(2) To take a decision
(3) To read something carefully

(4) To be cautious

Identify the word that has correct”

" stress :

(1) pivotal
(2) volatile
(3) diplomacy

(4) opportunity

TET-111-EM/TM
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With the word ‘the, ‘carth’, 1S
‘round. we can make 2 statemerntd —
The earth is round” and 2 question
— Is the earth round ?

The | [2ngrage

mentioned here 1Is

property of

(1) culture mnsmnssxm
(2) duality of structure
(3) arbitranness

(4) 'creativity

. T like apples, but they dont [Eke

tne. The figure of speech used &
the expression Is :
(1) euphemism
(2) personification
(3) metaphor

(4) oxymoron

We eat so that we may hve.

The syntactic device used here is :
(1) Complementation

(2) Relativisation

(8) Coordination

(4) Subordination




. The General Service List of English

words (GSL) is associated with :
(1) Bilingual method

(2) Gramm;;r translation method
(3) Dr. West’s new method

(4) - Direct method

The process of determiniﬁg the

changes in behaviour through.

instruction is :
(1) Test

(2) Evaluation
(3) Measurement

(4) Assessment

81-85. Read the following passage :

An optical fiber system consists of

three basic parts : transmitting |

equipment that transforms electric
signals into light pulses, the optical
fiber-itself, and receiving gear that
acts as a light detector, The fiber is

- a very thin strand of pure glass

usually made of silicon or other
materials such as germanium. The
glass strand has two parts : a light
transmitting core and a special

TET-111-EM/TM
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glass coating that keeps the light
from straying. The fiber, of which
there are several types suited for
different kinds of tasks, is mersly
the medium through which the
light flows. An average cable
consists of about 75 fibres. |
The light impulses are generated
either by laser orlight emitting
diodes, LEDs. If the signals have to
travel far, they may be boosied at
certain pomnts. Lasers are better for
long distances as their signals

travel long without the need for -
- boosting, but LEDs ~are less

expensive and more reliable.
- Research is focused on creating

-better and less expensive light

sources. In that case, the prices of

lasers and LEDs will decline. It is

believed that in no time the copper

cables will be replaced by fiber

optics as they transmit a great deal

of information very quickiy.

Now, answer the following questions

choosing the right option :

The advantage of the optical fiber,

according to the passage, is -

(1) Signals which travel through it
do not need boosting

It is less expensive than
traditional cables

(2)

(3) It is durable thanp copper
cables

(4) It transmits information
quickly

=



o,
/

85.

costing on the strand :
(1) Holds the bundles firmly

(2) Keeps the impulses from
escaping

Detects signals

() Trsnsmits signals

LEDs sre better than lssers In case ©
1)
2)

fis
V4

Copper cable is not available
Relisbility is more important
than expenditure |
Expenditure matters

Signsls need to travel a long

3)
4)

way :
From the text, it can be understood
that : TS
(1) The use of lasers and LEDs
will decline

Fiber optics will become
affordable and widely used

Copper cable will replace fiber
optics

(2)
3)

(4) Both copper cable and fiber

optics will be used
The function of the core is to :
(1) Transform signals
(2) Transmit signals
(3) Detect signals
(4) Create signals

TET-111-EM/TM
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(86-90) :

$6.

87.

88.

89.

90.

3

The following passage has five
numbered blanks. For each blank,
four alternatives are given. Identify
the correct option for each blank :

When you plant a tree, you are
helping your environment (86)......
many ways. Your tree will provide
a home and food for (87)......
creatures. It will hold (88).......
in place. It will provide (89)...... in
the summer. You can watch'it grow
and some day, after some years,
show your children, even

‘grandchildren, the tree you (90)....

(1)
(2)
(3)
@)
D
(2)

in
on

for

before

any other
some another
another -
other

some

@
(§9)
(2) all

(8) the

4) a

(1) glimmer

(2) shade

(8) shadow

(4) twilight

(1) plant

(2) will be planted
(3) will plant

(4) planted



91

92.

93.

3)

C
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Part 1IV(a) : Mathematics - Content

When measurements of two
diagonals are given, then the
quadrilateral that can be
constructed is :

(1) Trapezium

(2) Rhombus

(3) Rectangle

(4) Parallelogram

Tod Soro ol adydRd
Qagoéﬁv iSéJdJQ&!O '

() [Bo2cho

2) ‘oco2R

(3) &8 Iddo

4) HBrod8 SSE 20

The adjacent adngles of a

. parallelogram are x° and (2x + 30)°,

then the greatest angle of the
parallelogram is : ;

PAr0EY ﬁé)daz)aso Gy (D),
P8y 6d) Swren x° 200w
(2x + 30)° ®ond HISrodd
Séyzo T 0o Swo
(1) 70°

(2) 20°

(3) 50°

(4) 130°

Choose a shape having unlimited
number of lines of symmetry :

(1) Rectangle

(2) Circle

(3) Square

(4) Tsosceles triangle

ODBDE Dopes® FRS Tpen
EOAS ws¥o y
(1) 88 S&8(Ho
(2) HySd»
636530
(CORRSENAI ISV (Bhz0

TET-111-EM/TM
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Mean of ten observations is 38, If
one observation 66 is excluded,
then the new mean is :

Bo ovbe DHen 38, St wl
o8 56 O &ohoddbond 5
FTATN

(1) 36

(2) 35

.(3) 38

(4) 387
Choose the incorrect statement :

-\ (1) Median is affected by extreme

© (2)

@)

3)

4

values
(2) There may be more than one
" mode for the given data -
Mode is the most frequent
observation of the given data
Median represents the middle
value of the distribution
arranged in either ascending or
descending order

@;‘Ség -55"5"520‘1 %80%0d,

(3)

() odgoy ST EI~E QOIS © D

DEgHB0 WErEHES

w8 &0 B5008 & NERPIN
P TVEESwen SEEIN AR
Saod ot DS I
QWIS Y80 wond o3
PTVYE0 wqiro :
8o B u$sihee (¥R005*D

Serofdns® DS oY gigHSo
Woiro



96.

97.

98.

The volume of a cuboid is 1206 m,
If its length is 24 m and ity
breadth and height are in the ratio
3 : 2, then the breadth and height
of the cuboid are (in meters)
édﬁ)?ﬁég CIns Zr MHH0HImo 1296
q:omb 2GS 24 . $0U5n Bben
RTaTouth! Je‘.’n 3:2 er‘)dé (2 ¥4} cbcm%
FaYsporperers) gy, B 59005 cDuJ
(gbgoo )

(1) 27, 18

(2)- 18,27

(3) 9, 6

4) 6,9 :
The area of a circular pdt]’l is 1570
cm? and the radius of the outer circle
is 30 cm, then the width of the
circular path is (n = 3.14) (in cm)
cJDU‘_;S"’d PRI Er@gwoa 1570
$:330.D9 . a’noom mmg 03yé
—‘g'ﬁ‘éo 30 0.p wond & @570
e Sty (n=3.14) o8 Resp)
(1)~0.1 -

(2 0.2

3) 20

(4) 10

If length of one diagonal of a

rhombus whose area is 2025 cm? is
27 cm, then the length of the
second diagonal is (in cm) :

2025 . aoo.b 370g0 Ho G“OZJ:O
'033352, a8 tfdo ) 27 200,00
wond oo Bodd £go /)

C (R0.d.08%

(1) 100
@) 25

@ 75 -
(4) 160

TET-111-EM/TM
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The base of an isosceles triangle is
12 em and its perimeter is 32 cm,
“then its area is (in em?)

EN A 53;1'53&5 iy (@gheo Tl
gren 12 040 b DitnElod
32 00.y wond A BETOL0
(5.7290.00,08")

(1) 40

(2) 80

3) 48

- (4) 96

The hcights of two vertical poles

“are 34 m and 10 m respectively. If

the distance between their feet is
32 m, then the distance between

" their tops is (in meters) :

Both Nend) Hogrw dden SEIM

34 & b 10 . @ Hogre wkhide

Sogsg &rgo 32 D wond T8 B
o Hgg Er80 (.08

(1) 10

(2) 24

(3) 82

4) 40

@11 x 35 x 87 x (64) x (3/5)6 =
(2) 275 x g2

(3) 3718 x 25 x 32

(4) 318 x 25 x 32
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L W 106 R A tééé@f 925 questions, (+4). marks
102. 1If x+;=3, then the value of are given for every correct-la.nswe‘r_
. ) ~and (~2) marks are.given for .
AL s incorrect answer. Laxmi attempts -
.‘-:_'_i all questions and gets a score of 76,
1 SRR Ll 9 aevthen the number of correct answers &
x+;=3 any _ 5 +x_4 &)wé i 2 attempted by her ig o 2 o
1) 81 3u§ @6565 25 L@f‘é&’m as’osa:c%:s;)
Q) 47 _'-'Lco@ HBS eaman& (+4) ardnen,
3) “9 é_@y 2355*2333’3 ( 2) 3’3316321_&3\:
@) 19 =
1103.252% + 92 = 30xy =
(D (5x+3y)2___ |
@) (5x — 3y)2
(3) (5x + 3y) (5x = 3y)
@ Bx + 5y) (8xi:= 5y) 7 il
104. If ¥ 5,600 amounts to ? 7 560 in
4 years, then the rate of ‘1.?_11.:exfest:__.-_;_ .1_06;--The dlfference between the L C M B
per annum 1s : F3X e o and HC F. of two numbers is:133:6: o
s 5 600 oes 4 aoa’)égmmeﬁ" ; *__If the L.C. M is 20 times the HCF il
| and one of the number is 35 then" e
8. 7,560 B2 o 55:?6?9‘ . the other number is - _
2oBSND BE Bew ( 00% Domge . Si0ake
: > K050 g PSo 133, K.k,
(1) 8% (.58 20 B %80 ISt
¥ cooaag 35 wand Boud oomg.
(2) 8%
(1) 40
® 824 @) 25
81‘? (3) 42
i 4) 28

- 20
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107.

108. —

The number of prime numbers 1 o
100 is :

1 %08 100 H8%H »Hgho (Hord
cootpoo ,gowg :

(1) 20

(2) 23

(3) 25

(4) 24

1 | :
10 of a tower is coloured green,
2y 1 d white, —= i
oo 1s coloure ' 30 13
coloured red and the rest is
coloured blue. If the length of the.
blue portion is 14 m 70 cm, then |
the length of the tower is (in
meters) :

1

H0 '63335& —d 2P0 @53&1:5;)60?%,
X Ho @ o} (‘13. "LB": Faptatel
20> 7o LONNob: a5

Q%) ot “B0s» k@ grifo 0o
Goth B, vwo grKo 14 D 70

200.00 PEH wond, ©HE PED

(ogod®)
(1) 1.8
(2) 1800
(3) 180
(4) 18

TET-111-EM/TM
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@
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4 i -’f 13

13
99
40
(2) -+

43

e

)

43
90

3)

Raju and Ramu won a lottery and

'agrecd to share in the ratio of

3 4. If Ramu received T 780 as his
share, then the total amount they
won is :

ore 005w ordm  red 1@.‘}@'63
$o60%00 3 i 4 Da3det
$058 508 wof¥bomrd. oodw
e Sr. 780 odE  acdd
Teodrodd ordd Jndo

(1) X 585

(2) ¥ 600

(3) T 1300

(4) T 1365



111.

If the cost price of 10 articles is

~ equal to the selling price of 8

articles, then the gain 'or loss
percent is : i
(1) 25% gain

(2) 20% loss

(8)  25% loss

4) 20% gain

10 35990 bk To 8 SHyHo

otnth Do LETEEN wond

oS Voo Spdw b
(1) 25% orefo |

2) 20% $%o

3) 25% Sho

@) 20% oo
112.

The ratio of the perimeters of two
squares is 1 : 2, then the ratio of
the areas of that two squares is :
Cob ﬁé}dl&o z‘.’ndm Fodo 28
1:2 owd o Tod SHYdro
SToge D8

(1) 1:4
(2) 4:1
3) 1:2
4) 1:1

TET-111-EM/TM
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113, The angles of a triangle are (2x)’,

(3x + 5)° and (4x — 14)°, then the

smallest angle of the triangle is :

'-2,5 L'e’éamso '6;11353_ 5"&!‘&’0 (2x)°,

114.

(3x + 5)" a’oobd’m (4-1: - 14)" wond

s @aeﬁaaao 'diwézr {):63_

(1) 68°

(2) 70°
(3) 21°

(4) - 42°

The angle which is 36° more than

its complement is :

28 88 &ro¥ Fmo €08 36°

wddomr Ho 5'mo

(1) 72°

(2) 63°
(3) 36°

(4) 27°



116. Which ai

Part IV(®) :

115. “Model problem solving” lies in which

step in writing a ‘period plan ?

(1) Presentation and discussion

(2) Recapitulation

(3) Academic standards
students should achieve

that

(4) Teaching learning material

“EAD Db FERT ©dds

20cHE HB¥ K9St O P8

BodIb? :

() (DS a?:s B8Y

(2) QB33 8ed

(3) Qg doe:o @1’&01:526@:0?6 :DCPS
oﬁmsa‘mo

G))

da‘eﬁcigcoté :3°&’1:°Lﬁ

is used 1n .teaching
geometrical concepts ?

(1) Pegboard

(2) Geoboard

(3) Fractions disc

(4) Abacus

g8 o grido zi"sc;b’c‘és’o
&HBrA0T HOES0 8?2 |
(1) b &°6

Q) 23 56

3 ébawlo szeno

(4) Yoo W(do

117. Which of the following is an

example for summative evaluation ?
(1) Assignment

* (2) Project work

(3) Quarterly examination

(4) Quiz

806 &8° Hoftrwrd) s
Borereo¥rdd  gorirdom ;D&?
(1) doredo

2) |2 DD

3) BIST0E HBY

(&) 3_5?5

TET-111-EM/TM
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(3) ddor

118 Which of the following is not the

nature of mathematics ?
(1) Discourse
(2) Inductive
reasoning
(3) Abstraction
(4) Accurac 62/
8ol @& YA r‘iﬁé agw&’ao

and deductive

© 50 ?

(1) HedH88 drdo '

Q) 850, DS méaa"cso
3) @é:}‘dé‘éso

-4 Q) S0

119 Man needs %0 rely on mathematics

in his real life situations to collect
the details of population census,
land measurements, natural

.resources etc. Thus, mathematlcs

has this value :

(1) Cultural value

(2) Aesthetic value

(3) Information value

(4) Preparatory value

Céa IS Z)é Beh :ooc:’:.o“g _
wIve T¥ gw, 25PZ)J ‘DHoCen, g%a
%BoHE BBOK DHoeen WEDO
Be886 sorddddod Godnod.
@océoa’w;f), ﬁeﬁe’.’eo &3 dendd £OH

&él&
(D i’!‘o‘ézr ¥ dend s
QDD

2) Bered
8 dend

4 aa‘lm§ Dend

120. Which feaching method is useful

for verification of principles ?
(1) Activity based method

(2) Inductive method

(3) Synthetic method

(4) Deductive method
:oJ‘Lés'dch&’m a@drdw&)é’
GHWrRHTE: BT HES 282
(1) &yzeg08 558

(2) @HH8S acssf

3) :oo'iozea 558

4) DK% nacg?s
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Part V(a) : Environmental Science - Content

121. Identify the sequence of the three

main layers present in the eye
from outer to inner : _

(1) Choroid, Sclera, Retina

(2) Sclera, Retina, Choroid

(3) Sclera, Choroid, Retina -

(4) Sclera, Cornea, Retina

¥o8sS® 20H8 2008 SPHO J8%
Do de  Soreds S0P DS
PBod HdoPod.

(1) 8€d000, SyEBs0, JEdboo

Q) Sy$iso, B(BEHbeo, S5dee0
3) &)Eddo, EEHve0, JSHbwo
4) &yERdo, s°0yasr, JEdveo

122. Which among the following is NOT

a non-renewable resource ? . .
(1) Fossil Fuels
(2) Air
(3) Water
(4) Sunlight 8
Bod a&eS° ‘@563%560‘;:5&:: INTov)
5P 8 G '
(1) Borz mo0&ced
2) m™d
(3 B
@) ﬁpdgd%’é
.According to ancient Indian
cartographers, India is located in
this : ‘
(1) Jambu Dwipa
(2) Krauncha Dwipa
(3) Salmai Dwipa
(4) Saka Dwipa
@05 8805 & Erdse (Hsedo,
Pr88BH0 & Hehod® Ked
(1) =05 Bedo
(2) [B7o Bedo
3) i)wg@ [
- (4 4¥ Bgdo

b
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124. A girl named Shoka travelled from

Dispur to Shillong. She' travelled in
this direction :

(1) East

(2) West

(3) North

(4) South i

€ o3 wdryon &b § od

RNerohd [(HoSFEmo BRod, wons
oD & 5D S° (doirmo Wod :
(D) &y :
(2) HENG
- (3) &0
@) &Emo |
125. Consider the following : ;
- Place District
() Amrabad (A) Jayashankar
' : Bhupalapally
(it) Eleshwaram (B) Nagar
: Kurnool
(iii) Pandavula- - (C) Adilabad
gutta :
(iv) Ghanpur (D) Nalgonda

Choose the correct match :

1) @)-B), G)(D), (EHi)-(A), (v)-(C)
2) ©)-B), ()-(C), (ii)-(A), (fv)-(D)
@) ®)-(A), Gi)-(B), (iii)-(C), (iv)-(D)
) )-(D), @)-(C), (iii)-(B), (iv)-(A)
& 1800 B HBRO0S0E

|08 & 2
@) oErerE  (A) 2dHols

: ASLFOIIYST))
(i2) aﬁ?iédo (B) 66 §8ryS
(i) JodHo (C) wdeorers
Y
(iv) HoHrE

(D) $e5°0e8
0TS 2do o)éolgsoré-

(1) (DHB), (D)D), Gii)(A), Go)(C
@ OB, (0, (idA), (oreD)
B) ()-(A), Gi)(B), (iii)-(C), (iv)(D)

@) D), ()0), (iii)-(B), (u)(A)



126. The story of ‘Bhakta Kannappa’ is
in this Purana :
(1) Linga Purana
(2) Periya Purana
(3) Brahma Purana
(4) Shiva Mahapurana
B EHDY P s Hore0S® &ob.
(1) oif Horeo
(2) 0B%H Poreo
3 meg W00
(4) BHB0GE D0Te0
127. The Indian astronomer, who said
that the sun does not revolve
around the earth is :
(1) Varahamihira
(2) Brahmagupta
(3) Bhaskara
(4) Aryabhatta :

Sogeky e W&o 2YeTele o) 36520
% 2.)*6@0‘.’» snﬁ%%‘ aﬁajwéz"
6031’&)3031636&3
&%

(1)

(2) (257 %

3) %mozf’da

(4) es8ge5én. '
128. The government should prov1de

free and, compulsory education for

children aged 6 to 14 year. If not

_prov1ded ‘the following right is

violated : \

(1) Right to freedom

(2) Cultural and Educational mghts

(3) Right to equality

(4) Right against exploitation

6 508 14 Joddyore HOH™)

DO (Do DS A 0 .

dég:fp 5@30::3‘@ B KOO &,

(FEDE Ty od®d G TrEy

EFQOPOOVIED

) K"S"séoLé@ o8

@ @“Oaargééﬁ Doy - DBO0E o8

4) 28Ty Qﬁséo'g oy,

TET-111-EM/TM
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129, The Indian National Army hoisted

the Indian flag here in March,
1944

(1) Itanagar

(2)‘ Agarthala

(3) Port Blair

(4) Kohima '

6% B idgo G0y 194488
880 Bowwd @)y d ANHEJFE.

1y a6 |

Qyeigo
3 FEPo0E
' | (4) 5"03‘5’331 ;
130. The woman who did ~not
_ represented ~ the Constituent

Assembly of India :
" (1) Dakshayani Velayudham
(2) Lakshmi Sehgal
(8) Sarojini Naidu
(4) Anna Mascaren
8 orergols JPS® (8IGgo
HTroD Sind |
(1) orgeond JForddngdo
(2) o83 HS
(3) D82 Teadndd
@) waey S90S
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Identify the false statement in the

following regarding the retreating

monsoon season !

(1) The
oppressive due to low humidity

atmosphere is very
in the air

This is called ‘October heat’
Not only clear sky, but also rise
in temperature

(4) The soil will be still moist

B 503 2FDIS oS
b020800 & (800 F8S® EDY
(PEOSD  hoosod.

(2)
3)

() Ot é@g?e'éo' sE oo

TPSITP0 WP e:s‘zra?*ém
GOot0oH
(2) 6V o8'2b T8 wotrdH

- (3) wsrfo dByoorm &oc’seaﬁos‘é

132.

&g‘;_ﬁéw S hacon
(4) o g05° SHH Hokod
Trees like oak, ash, beech, birch
mostly found in this forests :
Temperate evergreen forests
Temperate de;_ciduous forests .

are
(1)
(2)
(3) Tropical evergreen forests

(4) Tropical deciduous forests
&5, o5k, DS, AL Ho8 Téw
NECTR L= wEHS" EJDIow.
(1) $%RE"DH DESE0E eTeTgen
(2) HDIEY $HTT) wEH

3) sRdodo V&S 08 ©eTgen
(4) &RH0ke eHT Ty wEHe

. TET-111-EM/TM
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From the following identify the

_correct sequence in maklng of

paper : _
(1) Chipping — Maklng wood
pulp — Spreading the pulp =
Pressing — Cutting
Chipping —> Spreading the
pulp - Making wood pulp —
Pressing — Cutting
Cutting » Making wood pulp
> Spreading the pulp -
Chipping — Pressing
Chipping — Making wood
pulp — Cutting— Spreading
' the pulp —> Pressing
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BEIHS H&D ($&rd) fhdoSod
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DESdo - wddo :

The Constitution of India gives the

following powers to the governor in

the affairs of the state :

(1) Judicial powers

(2) Partial judicial powers -

(3) Legislative powers

(4) Executive powers
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‘  Booklet Code C
137. Identify the CORRECT sentence

135. Identify the cell organelle in which

cellular respiration takes place
from the following :

(1) Chloroplast _

(2) Endoplasmic reticulum

(8) Ribosomes

(4) Mitochondria

‘L§o& F8S° é_eaa“tg‘é@oﬁo__' =0T |

§s:e*’on°§)l thdoB0d.
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0883 (SHgareo .
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136 Ident1fy the gland that secrets

Glucagon from the followmg
(1) ‘Lungs .
(2) Pancreas

(3) Liver

(4) Kidney :
(8od >SS qrgms & (90T
508 hdoSod.

(1) &2d8&hen

2) 50
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) S EDodo
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regarding transpiration :

(1) Transportation of water from
soil to plant cells

(2) Transportation of water in
between the plant cells

(3) Release of excess water into
the atmosi::here through the
stomata

-4 Transportation of water from

roots to shoot
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138, Identify the consumers of the food

chain from the following :
(1) Microorganisms

(2) Shrubs

(3) Plants

(4) Animals
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139.

140.

Identify the soil horizons from the
top layer to bottom :

So B 8 Hod (80d 8%
S&dr Jo §ézrod Hdowod :
) A B>C->E->0->R
2 O A>R>E->B->C
3 O-A->E->B->C->R
4 0O>A->B5CH>E->R
Hormone responsible for the

secondary sexual characters i in g1rls 3

(1) Estrogen
(2) Thyroxine

"~ (3) Adrenaline

141.

(4) Testosterone

O€es® éaséd’n Boﬁé oémoé:.

S 8eSoThg &55&5
() &2
2) Bo 8D
(3) JEIOI
4) BP0

W}nch among the following is NOT

an Oviparous ?

(1) Bat

(2) Pigeon

(3) Eagle

(4) Sparrow :
BodmBS® woblery¥o 5 T
BoS0k. ;

() ﬁ@aeo
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3) @

(4) D%y¥
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Booklet Code | C
142. Identify the male part of a flower :
(1) Petals
(2) Sepals

" (3) Gynoecium

(4) Androecium
PANOS HBH @énsé;)a PIPRY.
0800k, :

'(l) CEH uD'LE‘QD
@) 88 Bwe
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143 Chemlcal used to test the carbo-
hydrates in the food :°

(1) Copper. sulphate Eelas
(2) Spirit . -

2243) Potassmm hydromde
B Iodme _ |
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144. Identify the desert plant from the

following :

(1) Mangrove

(2) Cactus _
(3) Red Sandal wood
(4) Vallisneria
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Part V(b)

145. Which one of the f'ollowing

statements is not correct related to
objectives of  Continuous
Comprehensive Evaluation (CCE) ?
(1) Maintain desired standard of

attainment

Use

improvement of student’s

evaluation for

(2)

achievement through dxagnosmt_ :

and remediation
(3)
part of teaching-learning
process : Lo

(4)

evaluation
QBoES oRTT! a’ameﬁsogé (CCE)»

oswsoéa Hozobot) & @o&; 63‘6365 -

B$0H0 R 28?2
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Making evaluation an integl_'_ol :

Provide no scope for self- |

: Methodology
146. After listening to the topic ‘Child

29

émse“é

6 BR000886.
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Booklet Code | C

Rights’ a class-V student is able to
explain the child rights clearly in his
own words. It aims at achievement of
this academic standard : .

(1) Questioning hypothesis

(2) Experiments, field observations
(3) Conceptual  understanding

(4) Information skills, projects
oo T el FEED A9
28 585 88158 JTgd e
oo 1HB0D E5 B0 Lreod®
Dydom Béaﬁmé) WWod & T
(@ gm0 &S00
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147 Class-V students visited the place

where pots are made and they got

‘experience of the process of pot

making. This refers to the
following experience :
(1) Olfactory

~ (2) Gustatory

(3) Auditory
(4) Kinesthetic
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48. A primary teacher

“involved
children in a campaign in the
village for conservation of water
and they spend considerable time
interacting with the villagers. This
approach :
(1) Breaks monotony in learning
and to provide conte::'c'tual
learning environment

(2) Improves social skills of |
students !
(3) Enhances the  students

knowledge on sources of water
4)
the
resources to water conservation
2§ (I argrgdindd JE. |

could relate
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Ensures the students that they -

water

30

149. Which one of the resources is

_Lé’ 08

Booklet Code | C

helpful for completihg the project
work based on the reviews on water
polIution 2 |

(1) . Assignment

(2) Seminar

3)

Classroom -

(4) L1brary
il svmago eacs"dor‘r' ﬁe) 9.5356

[CEECRR- R cQj"G T:Srdiooé:;s’a
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150 Which one of the

_ .develops critical thmkmg and

followfng _

1ntellectual honesty among the
puplls '
(1) Social behaviour

(2) Philosophiéal thi_nkin_g

 (3) Scientific temper

(4) Psychological approach |
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